prepp

Practice, Learn and Achieve
Your Goal with Prepp

NVS Exam

Stenographer (Group C) Paper 2017

Simplifying
Government Exams

@ ssc cHsL _% IAS EXAM RRB NTPC 2 cps
& cBseuce NET | (i7 1BPS PO | 77 NDA

© ssiro | 17 1BPS CLERK é—AFCAT

@ CSIRUGC NET | & CAPF | (i7 1BPSRRB



https://prepp.in/
https://prepp.in/ssc-chsl-exam
https://prepp.in/ias-exam-exam
https://prepp.in/rrb-ntpc-exam
https://prepp.in/ntse-exam
https://prepp.in/cds-exam
https://prepp.in/ssc-cgl-exam
https://prepp.in/cbse-ugc-net-exam
https://prepp.in/ibps-po-exam
https://prepp.in/nda-exam
https://prepp.in/sbi-po-exam
https://prepp.in/ibps-clerk-exam
https://prepp.in/afcat-exam
https://prepp.in/ssc-je-exam
https://prepp.in/ctet-exam
https://prepp.in/csir-ugc-net-exam
https://prepp.in/upsc-capf-exam
https://prepp.in/ibps-rrb-exam

Notations:

Question Paper Preview

1.0Options shown in green color and with ¥ icon are correct.

2. Options showr in red color and with # {con are incorrect.

Question Paper Name: STENOGRAPHER
Subject Name: Stenographer
Creation Date: 2018-01-14 12:49:28
Duration: 150
Total Marks: 100
Display Marks: Yes
Calculator: None
M agnifying Glass Required?: No
Ruler Required?: No
Eraser Required?: No
Scratch Pad Required?: No
Rough Sketch/Notepad Required?: No
Protractor Required?: No
STEMOGEAFPHER
Group Number : 1
Group Id: 50137344
Group Maximum Duration : 0
Group Minimum Duration : 150
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 100
TInit I
Section Id : 501373106
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 22
Number of Questionsto be attempted: 22
Section Marks: 30
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 501373176
Question Shuffling Allowed : Yes
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Question Number : 1 Question Id : 5013734168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT el § § &I T Mg 959 &7

Options:

Question Number : 2 Question Id : 5013734169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 5013734170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 5013734171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 5013734172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 5013734173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 7 Question Id : 5013734174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 8 Question Id : 5013734175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 9 Question |d : 5013734176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 10 Question Id : 5013734177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Sub-Section Number: 2
Sub-Section Id: 501373177
Question Shuffling Allowed : Yes

Question Id : 5013734178 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cuestion Label - Comprehensicon
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Sub questions

Question Number : 11 Question Id : 5013734179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 5013734180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TTH W FIA NG H AAMSF 20T F FIRF
dar 7

Options:
| % TS THARRA T

o % TATAN faEeTe
I S CACERCECIT LN
4.Jmﬁa€

Question Number : 13 Question Id : 5013734181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

=T THARS T o HiT § TT § 987 TAS 7
FATIAT hr?

Options:

| % 24 TagwaT 1903 #
- % 5 AT 1895 H
5 v 20 3HeTET 1828 H

4 % 28 fAgFax 1893 &

Question Number : 14 Question Id : 5013734182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 15 Question Id : 5013734183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Sub-Section Number: 3
Sub-Section 1d: 501373178
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 5013734184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fill in the blanks in the sentence below with suitable articles. Choose your answer from the given options.

winds which swept across southern Britain on night of October 15/16, 1987, left worst-hit areas
totally devastated.
Options:

1 % A, the, the

>  The, the, the

5 % The, the, a
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Question Number : 17 Question Id : 5013734185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fill in the blank in the sentences below with suitable prepositions. Choose your answer from the given options.

Weather forecasters the 19t Century relied solely basic observations such as temperature, pressure, sky
conditions, and experience.

Options:

1 ® Oll. b:“"

5 o in, on

- » by, with

4 % in, in

Question Number : 18 Question Id : 5013734186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fill in the blank in the sentence below with a suitable modal verb. Choose your answer from the given options.

you rather lose S100, or turn down the opportunity to earn $1007 Most of us find the latter easier, even though
the result is the same.

Options:
1 « Would

> % Could
o W h‘lﬂ}-

4 % Will

Question Number : 19 Question Id : 5013734187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A passage is given in four parts as options. One of the parts contains an error. Choose the option that has the error.
Options:

1 % Former Nasa astronaut Ron Garan has spent 178 days in space,

> % including more than 27 hours outside the Space Shuttle and ISS during four spacewalks.
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-  The experiences have transform his life and he has devoted much of his career since

, % toconveying what he calls the “orbital perspective” through books, painting and film.

Question Number : 20 Question Id : 5013734188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
From the options given below choose the collective noun that cannot be used for a group of crows.

Options:
1 % horde

5 o raft
- % hover

4 % mob

Question Number : 21 Question Id : 5013734189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

From the options given below choose the one that is the collective noun for a group of gypsies.
Options:

1 & Caravan

> x Gaggle
5 % Troupe

4 W A_l. m}"

Question Number : 22 Question Id : 5013734190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in the sentence.

Sharman was interviewed for a series of new 360 films for the BBC, featuring astronauts describing their impressions
of looking down on the Earth from space.

Options:
1 % Argument

-  Feelings
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- % Surroundings

4 % Debate

Question Number : 23 Question Id : 5013734191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in the sentence.

Australia is perhaps best known for its extraordinary wildlife and the possibility of close interactions with amazing
animals, whether you're floating alongside a whale shark. spying koalas napping in trees or spotting a crocodile on the
banks of a billabong.

Options:
, » Handy

> % Neighbouring

3 « Detached

4 % Uncramped

Question Number : 24 Question Id : 5013734192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
From the options given below choose the idiom that means the same as:

When someone finds it difficult to choose between two alternatives.
Options:
. w Bite off more than you can chew

~» % Cut corners

5  Caught between two stools

4 % Steal someone’s thunder

Question Number : 25 Question Id : 5013734193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
From the sentences given below, choose the one that has used all the words of the idiom correctly.

Options:
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. % To hear something strait from the horse's mouth

- % Peace of cake
3 « Feel a bit under the weather

, » Here it on the grapevine

Sub-Section Number : 4
Sub-Section 1d: 501373179
Question Shuffling Allowed : Yes

Question Id : 5013734194 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label | Comprehension

Read the passage given below and answer the questions that follow.
Choose the answers from the options given.

As dusk falls over the beautiful Wilsons Promontory National Park
in Victoria. (Australia) solid. rotund animals with short legs and
twitching noses emerge. Wombats are naturally shy. nocturnal
creatures. but at dusk they emerge from their burrows to feed on
grasses. and can often be seen at the enfrance to the main beach and
thumping heavily through the camping grounds. While you're here.
expect to also come across kangaroos. emus. echidnas and rosellas.

Sub questions

Question Number : 26 Question Id : 5013734195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of these is true according to the passage?

Options:
1« Wombats come out at sunset.

- % Wombats come out at sunrise.
-z % Wombats come out at the noon.

4 % Wombats come out at midnight.

Question Number : 27 Question Id : 5013734196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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In which of the following pairs. the second word of the
pair defines the first word in the way it has been used in
the passage?

Options:
1 % Burrows : unearth

> % Falls : auumn

-  Rotund : plump

, w Emerge: fade

Question Number : 28 Question Id : 5013734197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of these means the same as ‘nocturnal’ as per
the passage?

Options:

1 % sweet

> % late

- n sleepy

4 « hight time

Question Number : 29 Question Id : 5013734198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of these is NOT true as described in the passage?

Options:
. « The wombats emerge from their burrows at noon to feed on grasses.
> % Thewombats are roly-poly.

5 % Wombats are only shy at dusk.

At Wilsons Promontory National Park in Victoria you
4 % cansee only wombats.

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.
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Question Number : 30 Question Id : 5013734199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of these options defines ‘emerge’ as it is used in
the passage?

Options:
1 % raised

> % dispread

5 « surface

4 % flow
UInit 11
Section Id : 501373107
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 501373180
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 5013734200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following leading banks has launched India’s first integrated lifestyle and banking digital service named
“YONO” or “You Only Need One’?

Options:

. # HDFC
5 « SBI
s % ICICI

4 % AXIS
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Question Number : 32 Question Id : 5013734201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following has been crowned “‘Miss World 201777

Options:
1 % Sana Dua

> % Priyanka Kumari
3 « Manushi Chhillar

4 % Stephanie Hill

Question Number : 33 Question Id : 5013734202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
International Day for the Elimination of Violence against Women is observed every year on:

Options:
1 % 25% October

5 % 25% December
3 o 25% November

4 % 25th January

Question Number : 34 Question Id : 5013734203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following singers has been awarded Padma Vibhushan in the 2017 Padma Awards?

Options:
1 « K. J. Yesudas

> % Sonu Nigam

- % Lata Mangeshkar

4, » Alka Yagnik

Question Number : 35 Question Id : 5013734204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Which of the following emperors had built the Red Fort in Delhi?

Options:
1 % Akbar

5 % Humavyun
- % Jahangir

4 « Shah Jahan

Question Number : 36 Question Id : 5013734205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which among the following is a disease caused by protozoa?
Options:

1 « Kala-azar

> % Rabies
z # AIDS

4 % Small Pox

Question Number : 37 Question Id : 5013734206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Infrasonic sounds have frequency of
Options:

1 « lessthan 20 Hz

> % more than 20 Hz
3z % between 20 Hz and 100 Hz

4 % over 20,000 Hz

Question Number : 38 Question Id : 5013734207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following is credited with laying the foundation for research on malaria and was awarded Nobel Prize
for the same?

Options:
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1 % Har Gobind Khurana
~ % Venkatraman Ramakrishnan
3 « Ronald Ross

4 % Asim Punia

Question Number : 39 Question Id : 5013734208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who among the following proposed a model for the structure of atom similar to a Christmas pudding and is credited for
the discovery of electron?

Options:
. % Subrahmanyan Chandrasekhar

~ % James P. Joule
3 « J.J. Thomson

4 % Asim Punia

Question Number : 40 Question Id : 5013734209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
One of the largest makers of cycles in the world, Hero Cycles, began their journey from which state?

Options:
| « Punjab

> % Gujarat
z % Tamilnadu

4 % Odisha

Question Number : 41 Question Id : 5013734210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the below provides access to institutional finance to small business units?
Options:

, w» Pradhan Mantri Grameen Yojana
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- % Pradhan Mantri Sadak Yojana
- « Pradhan Mantri Mudra Yojana

, % Pradhan Mantri Yuva Yojana

Question Number : 42 Question Id : 5013734211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India defeated in the final match to clinch Men’s Hockey Asia Cup 2017.

Options:
1 % Pakistan

> % Japan
5z % China

4 « Malaysia

Question Number : 43 Question Id : 5013734212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following has won the Best FIFA Men's Player Award 20177

Options:
] % Neymar

> % Lionel Messi
z % Andres Iniesta

4 « Cristiano Ronaldo

Question Number : 44 Question Id : 5013734213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Indian National Congress was founded in 1885 in:

Options:
1 « Mumbal

> % Kolkata
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z % Chennai

4 % Allahabad

Question Number : 45 Question Id : 5013734214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where did the Jallianwala Bagh massacre take place in 19197

Options:
1 % Ludhiana

- % Jalandhar
3 o Amritsar

4 % DPatiala

Question Number : 46 Question Id : 5013734215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A Judge of the Supreme Court of India retires at the age of:

Options:

| % 60 years

5 65 years
5 % O2years

4 % 64 years

Question Number : 47 Question Id : 5013734216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following decides whether or not a Bill in the Parliament is a Money Bill?

Options:
. « The Speaker of the Lok Sabha
> % The Chairman of the Rajya Sabha

5 % The Prime Minister
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4 % The Finance Minister

Question Number : 48 Question Id : 5013734217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the Constitution of India, the maximum strength of the Rajyva Sabha is fixed at:

Options:
1 % 260

> % 270

s & 250

Question Number : 49 Question Id : 5013734218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Palk-strait® separates India from which of the following countries?

Options:
1 % Pakistan

- » Bangladesh
3z % China

4 « SriLanka

Question Number : 50 Question Id : 5013734219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Narora Atomic Power Station is located in which of the following states?

Options:
1 % Tamilnadu

~» % Karnataka

5 % Madhya Pradesh

4 « Uttar Pradesh
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Urut 11

Section Id : 501373108

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 30

Number of Questionsto be attempted: 30

Section Marks: 30

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 501373181
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5013734220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Art: Gallery : : Animals: ?
Options:
1 « 200

~» % Rainforest

5 % Farmland

4 % Society

Question Number : 52 Question Id : 5013734221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Bullock : Bullock Cart : : Tractor : ?
Options:

, » Plough

> % Engine
3 « Trailer

4 % Motor
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Question Number : 53 Question Id : 5013734222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a row of boys, Paras is twelfth from the left and Samar is fourteenth from the right. When the two boys interchange
their places, Samar becomes eighteenth from the right. How many boys are there in the row?

Options:
1 % 32

o W 30

3.« 29

Question Number : 54 Question Id : 5013734223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

BEHK : NQTW : : DGIM : ?

Options:
, % PRUY

> « PSVY
5 % ORTV

4 % ORUX

Question Number : 55 Question Id : 5013734224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Select the option that is different from the other three options.
Options:

1 & 23

2.« 91

Question Number : 56 Question Id : 5013734225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



Select the option that is related to the third term in the same way as the second term is related to the first term.

125:50::216:7
Options:
1 w 90

o W 78

5 W 60

4 % 150

Question Number : 57 Question Id : 5013734226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The difference between the place values of 9 and 5 in the number 428693745 is:

Options:
, % 00005

5> « 89995
5 % 90995

4 % 8995

Question Number : 58 Question Id : 5013734227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is different from the remaining three options.

Options:
1 #% Fox

> % Jackal
3z # Wolf

4 « Deer

Question Number : 59 Question Id : 5013734228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that is different from the remaining three options.

Options:

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



~ bonm

w XyZw

[

. ghif

L

4 % mnol

Question Number : 60 Question Id : 5013734229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Prabha is Sudha’s mother’s only son’s wife. How is Prabha related to Sudha?

Options:
1 % Sister

5 o Sister-in-law
- % Daughter-in-law

4 % Mother-in-law

Question Number : 61 Question Id : 5013734230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Take the given statements as true even if they seem to be at variance with commonly known facts and decide which of
the conclusions logically follow(s) from the statements.

Statements: Some pages are boats.
Some pencils are pillars.

Conclusions: I. All boats are pages.
IT. Some pillars are pages.

Options:
, % Only conclusion I can be drawn.

> % Only conclusion IT can be drawn.

- % Both conclusions I and II can be drawn.

4 « Neither conclusion I nor conclusion II can be drawn.

Question Number : 62 Question Id : 5013734231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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From the given options. select the one that does exact reproduction of the name and address given below.

The Associate Director,
Galerie d'art Moderne,
st Boulevard,
Auraville,
Pondicherry — 605 001
Options:
The Associate Director,
Galerei d'Art Moderne,

gth Boulevard.
Auraville,
, » Pondicherry — 605 001

The Associate Director.
Galerie d'art Moderne,
gth Boulevard.
Auraville,

> « Pondicherry — 605 001

The Associate Director,
Galerie d'art Modern.
gth Boulwvard.
Auroville,

5 % Pondicherry — 605 001

The Assosiate Director,
Galarie d'art Moderne,

gth Boulevard.
Auraville,
, % Pondichery—605 001

Question Number : 63 Question |d : 5013734232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst
the four options for the unsolved equation.

6x3=216
5x4=625
Ix5=7
Options:
1 % 729
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4 % 196

Question Number : 64 Question Id : 5013734233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Arrange the given words in a logical sequence, from small to big (according to their size), and then choose the most
appropriate sequence from among the options provided below.

Knife

Nail
Hammer
Axe

Needle
Options:

L v 5.2,1,3,4

b bd =

2

. x 1,5,3,2,4
3% 5.2-.351.4

4 E=4 5.2-.453.1

Question Number : 65 Question Id : 5013734234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If in a certain code language, “honey is sweet’ is written as ‘156 and ‘I love honey’ is written as ‘245°. If ‘lemon is
sour’ is written as *139°, then, what is the code for ‘sweet’?

Options:
1 |
o W 5

3.« 0

4. % 4

Sub-Section Number: 2
Sub-Section 1d: 501373182
Question Shuffling Allowed : Yes
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Question Number : 66 Question Id : 5013734235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In one can, the milk to water ratio is 5 : 4 while in another, the ratio is 3 : 5. In what ratio should the liquids from
the two cans be mixed so that milk to water ratio in the resultant mix is 2 : 3?

Options:

1 % 8:25
-~ ® 3:4

- # 12:25
4 o 9:356

Question Number : 67 Question Id : 5013734236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An upright bamboo pole is at a distance of 20 feet from a tower. The angles of elevation of the top of the tower from the
foot and top of the pole are 60° and 30° respectively. How tall is the bamboo pole?

Options:
2043
1 ® 3

5 R 10@ m

4043
3¢ 3

4 % 5vV3 m

Question Number : 68 Question Id : 5013734237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The HCF and the LCM of two numbers are given as 12 and 1716 respectively. If one of the numbers is 156, the other
number is:

Options:
1 ® 06

> % 108

s« 132

4 % 144

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



Question Number : 69 Question Id : 5013734238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

30 people could complete a work in 18 days. But after they worked together for 4 days, their emplover said that the
work should be completed in a total of 16 days. How many more workers need to be emploved to meet the deadline?

Options:
1.4 3

o W 35

Question Number : 70 Question Id : 5013734239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Out of three numbers, the average of the first two is 15, the average of the last two is 18, while the average of the first
and the third mumbers is 24. What is the average of all the three numbers taken together?

Options:
1 % 0.5

o ¢ 19

Question Number : 71 Question Id : 5013734240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The discounted price of a jacket is  1,216. If the discount on offer is 24%, find the marked price.

Options:
. % 1,748
- % 1,520

2 » 1976

4 v T L1600

Question Number : 72 Question Id : 5013734241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

After marking up the cost price by a certain percentage, Sumedha offered a discount of 25% on the marked price and
yet made a profit of 20%. By what percentage did she mark it up from the original cost price?

Options:
1 ® 45

0

h

o B

M
#
L
h

4.« 60

Question Number : 73 Question Id : 5013734242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A bag contains red, blue and black balls. The ratio of red to blue balls is 7 : 9. The ratio of black to red balls is 7 : 12.
The minimum number of balls in the bag is:

Options:
1 # 147

o o 241
s % 304

4 % 756

Question Number : 74 Question Id : 5013734243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In how many years will a sum of ¥ 35.000 become T 56,000 at 7.5% simple interest per annum?

Options:
1. ¢ 8

2_%5
3_%“3

4. % 9

Question Number : 75 Question Id : 5013734244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Rishi mixed 20 kg of a superior variety of wheat with 25 kg of another variety of wheat that cost T 30 per kg. If he then
made an overall profit of 20% by selling the blended wheat at T 44/kg, what was the price (in I/kg) of the superior
variety of wheat?

Options:

1 % 40

o & 43
= o 45

g #® 46

Question Number : 76 Question Id : 5013734245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The difference in the lengths of the shadows of a pole cast by the sun (at two different times of the day) when the angles
of elevation of the top of the pole measured from two points on the ground on the same side of the pole were 60° and

s
45°was givenas 10(1 - "3—3) m . How tall was the pole?
Options:

2043
1 % 3

5 ® 10\«@ 1m

1043
=3 ® 3

4 o 10m

Question Number : 77 Question Id : 5013734246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The digit in the unit’s place in the sum of 8% + 21°° js:

Options:
1.« 8

2_%5
3_%4

4. % 0

Question Number : 78 Question Id : 5013734247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

A, B and C can respectively complete a piece of work alone in 9, 12 and 18 days. The trio started working together, but
A and C left together after a few days and B completed the remaining task alone. As a result, it took a total of 8 days to
complete the work. For how many days did B work alone?

Options:
1 3

2_%4

4« 6

Question Number : 79 Question Id : 5013734248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

While going from A to B Salman drove at 48 km an hour but while coming back he drove at only 24 km an hour. What
was the average speed (in km/hr) at which he drove?

Options:
1 & 36

o W 34

3 W 32

Question Number : 80 Question Id : 5013734249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find 25% of 12% of 300.
Options:

1 % 900

o & 90
3¢ 9

g #® 0.9

Unit IV

Section Id : 501373109
Section Number : 4
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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 501373183
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5013734250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a reference to a memory location independent of the current assignment of data to memory?

Options:
. « Logical address

> % Physical address

z % Shared address

4 % Absolute address

Question Number : 82 Question Id : 5013734251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following refers to the decision of adding a process to the pool of processes to be executed?
Options:

. % L/O scheduling

- « Long-term scheduling

- % Medium-term scheduling

, % Short-term scheduling

Question Number : 83 Question Id : 5013734252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following comes under deadlock detection scheme?

Options:
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, % Requesting all resources at once

> % Resource ordering

- » Manipulate to find at least one safe path

4 « lnvoke periodically to test for deadlock

Question Number : 84 Question Id : 5013734253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following technologies was used in the first generation of computers?

Options:
1 % Transistors

> % lntegrated circuits

3 « Vacuum tubes

4, % Microprocessors

Question Number : 85 Question Id : 5013734254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The span of the second generation of computers approximately spreads over the years:

Options:
1 % 19401956

5 « 1956 — 1963
s % 1964 — 1970

4 % 1970 —till date

Question Number : 86 Question Id : 5013734255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The ASCII value of the character ‘D’ is )

Options:
1 ® 44
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> % 100

5 & 64

4 « 068

Question Number : 87 Question Id : 5013734256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1048576 bytes is equal to :

Options:
1 « | MB

> % 1KB
- % 1GB

4 % 1TB

Question Number : 88 Question Id : 5013734257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a type of optical disk?

Options:
1 #® CD

-~ % DVD
- % Blu-ray disk

4 « Hard disk

Question Number : 89 Question Id : 5013734258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following device is of sequential access?

Options:
, % Magnetic disk

-  Magnetic tape
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- » Zipdisk

4 % Blu-ray disk

Question Number : 90 Question Id : 5013734259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a kevboard lavout style?

Options:
, v MNOPQ

, %« QWERTY

- % AZERTY

4 % DVORAK

Question Number : 91 Question Id : 5013734260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a transformer and voltage control device in a computer that furnishes power to all the
electronic components?

Options:
. % BIOS

5 « SMPS
3 % SCSI

q ® CMOS

Question Number : 92 Question Id : 5013734261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following in a CPU contains the circuitry that uses electrical signals to direct the entire computer system
to carry out, or execute, stored program instructions?

Options:
1« Control unit

> % Memory unit

- w Registers
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4, % Arithmetic logic unit

Question Number : 93 Question Id : 5013734262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following options will help to repeat the same formatting several times in a Microsoft Word document?

Options:
1 « Format Painter

~» % Text Effects

- % Indentand Spacing

4, % Special Effects

Question Number : 94 Question Id : 5013734263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The shortcut key for centring text in a word document is

Options:

1 % Cul+R
> % Ctrl+L
3z o Ctrl+E
4 ® Ctrl+7J

Question Number : 95 Question Id : 5013734264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the cells Al to A6 in a Microsoft Excel sheet contain ‘X,5.Y,10,Z,7°, what will be the result of *=SUM(A1:A6)'?
Options:

1 10

2_%5
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Question Number : 96 Question Id : 5013734265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following shortcut keys is used to open the formula window in Microsoft Excel?

Options:
1 #% Alt+ Enter

o ® Cirl + A
. % Shift+F5

4 v Shift+F3

Question Number : 97 Question Id : 5013734266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following denotes the cell reference for cell range Al to B12 in Microsoft Excel?

Options:
1 % Al-BI2

> #% AllBI12
5 o AlBI2

4 % Al:BI12

Question Number : 98 Question Id : 5013734267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following Microsoft PowerPoint views gives the thumbnail form of slides?

Options:
1 « Slide sorter view

> % Notes page view

z % Outline view

4 % Master view

Question Number : 99 Question Id : 5013734268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Which of the following sections of the Information Technology Act, 2000 provides punishment for sending offensive
messages through communication services?

Options:

1 « 66 A
5> % T6A
- % 8GA

4 % 96 A

Question Number : 100 Question Id : 5013734269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following was the first telephone handset company to create a handheld mobile phone?

Options:
1 % Nokia
> % Apple

3 « Motorola

, % Google
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